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QUESTION 1

Which type of optics module is supported by a 12-port 100 GE Cisco Nexus 7700 F3 Series I/O module? 

A. CPAK 

B. QSFP+ 

C. SFP/SFP+ 

D. CFP 

Correct Answer: A 

 

QUESTION 2

Refer to the exhibit. Which item list all available functions that can be perform to the server? 

A. A 

B. B 

C. C 

D. D 

Correct Answer: A 
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QUESTION 3

Which statement is true about cloud deployment models? 

A. A public cloud is typically infrastructure used by a single organization. 

B. Public clouds are more expensive than private clouds. 

C. Hybrid cloud supports multiple organizations sharing computing resources that are part of a community. 

D. Public clouds are less secure than private clouds. 

Correct Answer: D 

 

 

QUESTION 4

Refer to the exhibit. 

Where is the best place to see whether the system is ready for a Fabric Interconnect failover? 

A. A - Overall Status operable 

B. B - L1 Connection 

010-151 PDF Dumps | 010-151 VCE Dumps | 010-151 Exam Questions                                3 / 4

https://www.pass4itsure.com/010-151.html
https://www.pass4itsure.com/010-151.html
https://www.pass4itsure.com/010-151.html


https://www.pass4itsure.com/010-151.html
2024 Latest pass4itsure 010-151 PDF and VCE dumps Download

C. C - Part Details 

D. D - Access 

E. E - High Availability Details 

Correct Answer: E 

 

QUESTION 5

If the Overall Status for a Cisco UCS B-Series Blade Server indicates a failure in the Cisco UCS Manager, such as
discovery-failed, which statement is true? 

A. The server shuts down. 

B. The server automatically reboots reboot in 3 minutes. 

C. The endpoints on that server cannot be upgraded. 

D. The server is online, but the administrator cannot assign a service profile to that blade. 

Correct Answer: C 
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